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Set Id : 53574_43

06-June-2019 Batch3 D.ELEd Odia

Section 1 - Paperl-English Language

1) Select the correct form of verb from the given options.
One child and two adults in a fire last

" Techofworld.In

A) had been stuck
B) was stuck
C) has been stuck
D) were stuck

2) Choose the most appropriate similar meaning word:
IRONIC

A) Inflexible

B) Good-natured

C) Disguisedly sarcastic
D) Bitter sweet

Read the below passage and answer the questions that
follow:

A dental hygienist or oral hygienist is a licensed dental
professional, registered with a dental association or
regulatory body within their country of practice. Prior to
completing clinical and written board examinations,
registered dental hygienists must have either an
Associate's or Bachelor's degree in Dental Hygiene from
an accredited college or university. Once registered,
hygienists are primary healthcare professionals who work
independently of or alongside dentists and other dental
professionals to provide full oral health care. They have
the training and education that focus on and specialize in
the preventon and treatment of many oral
diseases.Dental hygienists have a specific scope of
clinical procedures they provide to their patients. They
assess a patient's condition in order to offer patient-
specific preventative and educational services to promote
and maintain good oral health. The use of therapeutic
methods assists their patients in controlling oral disease,
while providing tailored treatment plans that emphasize
the importance of behavioral changes. Some dental
hygienists are licensed to administer local anesthesia and
perform dental radiography. Dental hygienists are also the
primary resource for oral cancer screening and
prevention. Dental hygienists work in a range of dental
settings, from independent, private, or specialist practices
to the public sector. They can also work in residential aged
care facilities. Dental hygienists work together with other
dental professionals, with a higher number working at
general practices with dentists, dental therapists and oral
health therapists. A smaller number work at specialist
practices alongside orthodontists and periodontists. They
help with the contribution of an interdisciplinary approach,

aiming to provide optimum oral health care to their
patients. Dental hygienists also aim to work inter-
professionally to provide holistic oral health care in the
best interest of their patient. Dental hygienists also offer
expertise in their field and can provide a dental hygiene
diagnosis, which is an integral component of the
comprehensive dental diagnosis. Dental hygienists may
also serve as researchers and as educators in dental
hygiene programs.

3) Some Dental hygienists have the license to

A) suggest oral chemical therapy

B) perform dental surgery

C) perform chemotherapy for oral cancer
D) perform dental radiography

4) Along with treatment plans, Dental Hygienists also
provide

A) Cathartic methods

B) Psychological methods
C) Therapeutic methods
D) Behavioral methods

5) Once registered, Dental hygienist provide

A) Gum care
B) Teeth care
C) Full oral health care
D) Cavity care

6) Dental hygienist are also the primary resource for the
screening of

A
B
C
D

Oral injury

Bleeding gums
Root canal infection
QOral cancer

— e
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7) Dental hygienists may also work as

A) Dentist

B) Researchers

C) Orthodontists
)

D) Periodontists TeCh OfWO r|1

8) Find out the most appropriate similar meaning word:
HESITATED

A) Stopped
B) Paused
C) Slowed

D) Postponed

9) Select the correct plural form from the given options.
There are four on the desk.

A) Onion
B) Book
C) Apples
D) Banana

10) Select the correct option.

Do you remember

girl whom we saw last
night?

A) a

B) the

C) no article
D) an
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Section 2 - Paperl-Education and General Awareness

11) Which of the following Union Territories of India listed
below is/are represented in the Rajya Sabha?(i)
Chandigarh(ii) Delhi(iii) Puducherry

A) Only (i) and (iii)

B) Only (ii)

aoma  Techofworld.In
D) Only (i) and (ii)

11) FPAUQ RUAGA 699 609 JIAC 2B IOTY AURIARIER
28E? (1) @89 (i) a1 (i) 986o

A) eRaq (i) G (iii)
B) eaae (i)
C) 629% (i)
D) eaaq (i) 6 (i)

12) The conversion of milk into curd/yoghurt is due to the
chemical reaction of the milk protein with

A) Acetic acid
B) Citric acid
C) Tartaric acid
D) Lactic acid

12) B106Q QI 691RR A2 AILIR QKGR ZETA 6Ig B18 98]
JGQRE 62IRAIN?

A) w@dGe 2g),
B) ainge &g
C) qigigie a9,
D) aige ag,

13) In which of the following years was New Educational
Policy placed before the Indian Parliament for
consideration and approval?

A) 1968
B) 1967

s 1 echofworld.In

D) 1987

13) GgAug 620 9F 7Y IF6aARIN ORAQ FoIR 9e° AGEAIRR
I Q8219 UIR2EEL 68 AUAITE FAUINRI?

A) 1968

)

B) 1967
C) 1986
D) 1987

14) Which of the following structures of education was
proposed by National Policy on Education, 19687

A) 10+5
B) 10+2
C) 10+2+3
D) 10+3+1

14) FQAIQ 699 dQl LA 1968 62 ATR oRd 2@
NGERde 719 999 SRULIRYRI?

A) 10+5
B) 10+2
C) 1042+3
D) 10+3+1

15) University Grants Commission provides grants to
establish a new University in India for a period of

A) 2 years
B) 7 years
C) 5 years
D) 10 years

15) %9@‘2]@ glad «dae 9@ gl g6
2A9Qle gt @6

Gi 6@60 Qd QIR

A) 2 og

B) 7 a4

)

)
C)5ed

)

D) 10 od
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Section 3 - Paperl-Reasoning

16) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly

known facts.
saemens | @ChOfworld.In
All the lemons are oranges.

All the oranges are apples.

Some apples are bananas.

Conclusions:

I) Some lemons are bananas.

Il) Some bananas are oranges.

III) All the lemons are apples.

I\VV) Some bananas are apples.

A) Only | and IV follows
B) Only Il and Il follows
C) Only lll and IV follows
D) Only I and Il follows

16) F6C4ISRT: 067 TAAIRAAI FIBQY 08q 78 Fd FAARE |
2Igag TR F12.4Yg A%Y 6QIR AIFQIq afe AG6 @ el
ARIREER SIS FEAOIQ B 6LHILIRAN | A2 Fadq 9eg
4e° QIO6R F9E fag, FuIaIReel fad FQ 696G ARIGESR
S412j21 S2NR 2QFING| KQel Ayg O] @169 29908 K& |
F1aQY: A9 6RCL g K | 49 KR GEa 646 | 78 698 6298
Qa1 |

aad:

l) &8 676,628 Qewll

1) @2 AOR1 6208 QORI

lil) @5 6ELGER 62aF 620

IV) @8 Q0@ 62QF 696 |

A) 6Qe%R 1 96° IV A9908 @0g
B) caqq 11 9e° 11l 29208 a3 |

C) 6aa@ Il 99° IV 29208 /g |
D) 6@a@ 199° 11 29204 249G |

17) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some cups are saucers.

All the saucers are artifacts.
Conclusions:

I) All the artifacts are saucers.

Il) Some cups are artifacts.

A) Both land Il follows

B) Only Il follows

C) None of the conclusions follow
D) Only | follows

17) R6RGIAGT: 067 QAUIRLR 7184 08q A8 F2d TS |
29y QAURINYR F1294Y7 oY 611 IR 989 UGG T 9al
QARINEER FEIZRI FEY0IR &4 CRHIKIRAN | A8 Fady aeg
49° GIU6Q F9E G2, FuIIRYSI Fad g A9 ARINEIER
R€12J31 B ARFIRR| @QEQl 718Uy O] RICS AFURE @QF |
A129Y: 38 90 969 6208 A9q | 49 99Q JEe ABTRT |
fed:

) Qg 2ITTHIRA Y@ A2 |

) @R /0 gow aAITTieg

A) Q@ | 9e° Il 23A948 968

B) eaa@ Il 29a0d @ag
C) 60164 @ F9d] 29906 Qg I8
D) 6eQ@ | 29208 @92

Techofworld.In



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

M M el d S AR Rer B e R e A LA

18) In a certain code language MINISTER is written as
SFUTJOJN. How is LAUNCH written in that code
language?

A) IDOVBM

B) IDOWEM TeChOfWOI'ld : | N

)

)
C) MBVODI
D) MBWODI

18) 4@ 5G] QI6TER QITI6a MINISTER § SFUTJOIN @&
ERSIDING | 698 6T QTIER LAUNCH &afF easide?

A) IDOVBM
B) IDOWBM
C) MBVODI
D) MBWODI

19) Instruction:
In the following questions mark:

1, if the question can be answered with the help of
statement | alone.
2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.

Among A, B and C, who is taller than B?
Statement | : A is shorter than C

Statement |l : C is shorter than B

>

car

B2 N

O

19) F6441GR1 FIRYS gg6a
1 395 90g 94 6897 (1294 | AIRIYISR 40 2aQ G2IYIRIQE
|

2 596 @9g, 19 69R 129y || JLsLIFER 99 A8 QeIIR
qI9a |

3, 90 Q9 | ¥e° || ALELITER J46 A8Q TRINIR AIRE |
4, 98 990 28Q 6969 § TR QG FIF |

A BNe°Caag, BOIQ 6agh &9 ?

A89Y | : C 0IQ A 26dKIge 6816 263 |

ey |l : B 0Ig C Z6dlI9e 6819 264" |

A) 2
B) 3
By
D) 4

200 FXW=3.8 XY=49and ZY =57 thenZ: Wis

A) 224:135
B) 504 : 60
C) 60 : 504
D) 135: 224

Techofworld-In

20) Q@ XW =38, XY=492QZY =57, Q@ Z: W=

A) 224 : 135
B) 504 : 60
C) 60 : 504
D) 135 : 224
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following checks the learning outcomes
atthe end of a grade or unit or a term and helps in knowing

to what extent the instructional and learning goals have
been met?

A) Prescriptive evaluation
B) Formative evaluation

C) Summative evaluation
D) Descriptive evaluation

21) GOAUQ 6RAE YR 69% QI 9FC O AGYQ 68T6a JTIR
TR QB AR 6 666 48 FAINIR 8 TR AR Yod
62IRE G2l FIEISIER AILICY FEQ?

A) gall FIel FEIRE RYIae
B) aoqice gauiee
C) saigiae RUIae
D) qdee gnuiae

22) A student who faces problems in learning and
retaining things for long is said to have difficulty in

A) creativity
B) emotional disability

C) executive functioning
D) co-curricular activities

22) 642 818 9996a AR AFSR 29 8 994 FFRIeR G1d
09 §4, QI2IQ 6QLEER ANAY AT 62N LITR ?

A) QRaaNRal
B) aieqiam Gnee
C) ivxian a16&y
D) ae-aioign @IdiaaIa

Techofworld.In

23) Read the following statements and choose the
CORRECT option.

(i) Informal Education is a lifelong process in a natural way
for an individual.

(i) Tutoring at home or private tuitions is covered under
the informal mode of education.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is FALSE
D) (i) is FALSE and (i) is TRUE

23) feqlia Qe 969 999 e 0 Gag 048 aagl (i) 6asalad
QIRTCATT AR A6HAIAR FAI 9P FIRGMIAT YIGER AL

(i) @6QIR S8l &7l TG QUAE ACHITCITR QI ZRIINER IR
Q4 621001RQ1

A) (1)0g e° (i) O]
B) (1)0q =" (ii) is @@
C) (Hgm e (iHgm
D) (g 9@* (i) OR

24) Considering school culture as an iceberg, which of the

following options CANNOT be placed on the tip of the
iceberg?

A) Attitudes and values
B) Behaviour of teachers
C) Classroom material
D) Behaviour of students

Techofworldin

24) ARG LYEY 1@ TG QIR TR A, FAUQ 699
3qed T069a J196a QUIKIa UGS FIF ?

A) FERI9R 1a° U
B) dgenice Queeia
C) 69815929 QRG]

D) @ouiaiges Queeia
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25) For the improvement of standards of teaching and
research in India, UGC has set up various CAS in different

branches of knowledge in the year 1963. What does CAS
stand for?

A) Central Authority of Science

B) Centre for Advanced Study

C) Committee for Advanced Science
D) Centre for Academic Surveillance

Techofworld: in

25) QIe6R IR Ye° F698dIa AP JRId faes gRA(
UGC) 1963 ¢1d2ika Hiea 30 591s6a §99(CAS) QIae
Qageml Q99 (CAS)R g4 2ga @'&?

A) 6agim 2285 T ARG

B) 624q 09 2IeNe 6]
C) ofiT o 2IeRIge 9]

D) 6a4q T I91668Q A0RIQ

26) When the teacher finds that a student is always
scratching his ear and has to force himself ahead in order

to listen to the teacher it could be that the child is suffering
from

A) Hearing difficulty

B) Visual disability

C) Psychological problem
D) Emotional problem

26) 60666965 SNQ 69U 64 K64 818 GG 59Q RI6q SIS
18 §90g 9491 A 9Ig e QI AAQIq Og 8 606e dada
6@Q AAQY QFE ?

A) gdiaiea aqau
B) cageiea 2igQa
C) cuade aaau
D) 2ieeGie arQul

27) Read the following statements and choose the
CORRECT option.

(i) The human rights elaborated in the Universal
Declaration of Human Rights was adopted by the General
Assembly of the United Nations on 10th December 1948.

(i) The Universal Declaration of Human Rights provides a

common standard of ‘achievement for all people and all
nations'.

A) (i) is FALSE and (ii) is TRUE
B) (i) is FALSE and (ii) is FALSE
C) (i) is TRUE and (ii) is TRUE
D) (i) is TRUE and (i) is FALSE

27) Q6918 QINNGRR 098 1e° 0R AT 998 @agl (i) 694e
AIFQ YL IR 6ATEIRIFER M FAARYR| IR YRINY G
QL ARG IR FIQI 1948 AR F6AYR 10 FIAHER
g2d eIl (i) 6390 AI8Q ZYFIR CAITIRI ANS AGAY
4G° AFIY 69 IR IR ARG AIRR IS F6a

A) (i) @R e (i) OR
B) (i) @m e (i)gm
C) (i) Ox wa°(ii) O]
D) (i) O% w@<(ii) @R

28) The main objective of the NCTE is to achieve planned
and coordinated development of the teacher education
system throughout the country. NCTE stands for:

A) National Committee for Teacher Education
B) National Council for Teacher Eligibility

C) National Centre for Teacher Eligibility

D) National Council for Teacher Education

28) NCTE @ ¢S4 @624 624 Q9 688 J81 98191 q 2IENFTS
@0 A7gL @ IRI9 @ 99 @8l 26e1 NCTE g g4 Qaea
Q@l Al

A) 30 F81 aIR Qg1 A5G
B) dge QIgel il QIdie 988e
C) J8@ QIgel IR QUL 695

D) dige &% OIR QIR 18 988e
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29) The teacher in a classroom takes care of students with
respect to all typical qualities. This means that they take
care of

A) special qualities TeCh OfWO rl d » I n

B) universal qualities
C) individual qualities
D) individual differences

29) QA8 géeal QEQ 99 6§419e6a SRTITVITTR KUY
6RRCIE | LI 22 62 609 @0 96 IR 6923 ?

A) J689 gEIeal
B) quiae g@eel
C) 4399 qQéqel
D) qu@aie e

30) In context to managing disruptive behaviour in a
classroom, which of the following terms is an act or
instance of following something as an effect, result or
outcome?

A) Suspension
B) Punishment
C) Fine

D) Consequence

30) 68419960 QRIGE 2IGRER GFIRGI AWER , GF TRIQ
60% 995 IRQRIQ 9OT, TR 2] ARG AFAAE RAQIR
R Q1Y Q1 QRIS 26S ?

A @lmgqg

)

3 0 Techofworld.In
)
)

C) 6x15¢19!
D) adaie
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Section 5 - Paperll-Odia Language

31) '909' - 99 JeC 604 6991a d 2667 36) Q16901 P4 Q0 Q I QRILN | 6RGIEE 496 & 91

SeaaN aee ?
A) 6RI99%
B) eaigia A) g Qlox
osee | @Chofworld.In ®) 93 a0
D) g@ C) qiq qiea
D) g& Qioe

32) €@ daal q%s‘@ Ql d6Q 2l @ Qid 4Gl @G goe de
S00 QAUTER SIRIG & S8 QRIAN ?

37) ' (29919) 8 '3 (09 §9) @ @ od g@Ia ?

A) salRe A B

B) giap B) zicai®
C) sdlgie C)ag

D) @ge D) 2@@isy

33) 6@lad Q@Y QIow FEETE A9 FIFLER Ag A°FY @ LR
9@ G LI QIIREA SI21q & F68TS gRIAN ?

A) gRIER A) geEe
B) a'qyiclow B) oG@1
C) 0drg o C) aqe
D) gas qle D) age

34) Gaig SRde FRACI F6AFE U9g @ F6EI8E RIAN ?

A) 2981 QIR A) Geag
B) @ie Qo B) dge
C) ged qloe C) &da
D) gg qee D) &ag

35) QEImEe F1UQ 69% 6dIQ] IR JRAR @ACS ? 40) ‘0g GoaI— @@,5@ 29] @' ?

A) BERIR-QR A) QQIge @33

B) eaig-eaig B) uie gF<!

C) @1@-ga1@ C) quel atgen 269!
D) ecig-cqua D) aggal

T anrhafinarld ln
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41) ‘QLQE IR0 YAIC I8 @€ ?

A) 2aGae

B) agais

)
)

C) ziueaiél TeChOfWO rld B In
)

D) 2aqer

42)' QIg ' 6] 971 9I9Q 6] VS 8 596 89 |

43) ‘69199 FI6616'- QRca 28 /'E ?

A) ade

C) g8 @@

)

B) Geaa @18
)

D) 213 0ga

44) FIRYS AU 69Q AAATE AR 226a MLLO 62IRN ?

45) QIAYS IRYER FRIQ 6266 Y@ AUAF 69169 A0S 62IR8
2
A) gge
B) gea
C) guie
D) gaisii

WtsApp/Call- 8596976190
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Section 6 - Paperll-Mathematics

easne e

46) The radius of the base of a cylinder is 20 ¢cm and
height is 40 cm. The surface area of the cylinder is

A) 7536 cm?

D) 7500 cm?

)
sl Techofworld.In
)

46) 69154 R€aQ 2RIG QUIAIF 20 62F B a9l 40 624 |
dnaoq 99 6AeTR 6208

A) 7536 Q6 6QF
B) 7326 @4l 6@
C) 7436 @4 69§
D) 7500 @4 6af

47) Three or more lines passing through a same point are
called as

A) Line segments

B) Perpendicular lines

C) Concurrent lines
D) Parallel lines

47) 695N g 60 UIA 620191 §F @ 2@ 699 9E5a
QRIdIRaNI

A) 6adl ¢19

)
B) ag) ol
C) anaa 694l
)

D) aciee 699

48) If U={1,2,34,5), R={1,3,5}, S=(3,4,5}, T={2,4}, then

RNSNT is

48) €@ U={1,2345}, R={13,5}, S={3,4,5}, T={2 4}, 696a
RASNT 6298

A) 2.4}
B) (1,3}
C) {3}
D) @

49) The H.C.F. of 1.26,0.72and 0.18 is

A) 0.36
B) 0.036
C) 0.06
D) 0.18

49) 1.26,0.72 42°0.18 @ 6.41. €29@

A) 0.36
B) 0.036
C) 0.06
D)o0.18

50) The value of ¥1.5625 is

A) 1.05
B) 125
C) 12,5
D) 1.25

50) V15625 Q (a4 6208

A) 1.05
s Techofworld.In
D) 125
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51) If two sets are equal then

A) they will have different elements
B) they will have the same number of elements
C) they will have the same elements

D) one set will have less number of elements than the
other set

Techofworld.ln

51) 9@ Q& 696 AAIR 6969

A) 69geRa QUIQIS ARG ARG QL

)
B) sag@aa aaie Q°Hie 2QI9I8 989
C) 6ag@aa eaiele AdIe ade

)

D) 65159 Q96 QQIQIG A°GHl AQY 6QG OIQ K¢ 62Q

52)Ifa=3,b=-5 x=6,y=12,z = -8, then a% + 24y -
3b is equal to

52)Q9@a=3,b=-5x=6,y=12 z=-8 6669 a®+ 24y -
3b dai@

A
B

) 333
) 330
C) 345
D) 320

53) What is the percentage change in the area of a

rectangle when its length increases by 10% and its width
decreases by 10%7

Join Us-

53) 9@ 695N 2ING 629Q 6T6Y 10% 9& QI 9e° 1TIa 94
10% 21 FAUAN 6969 IZIR 6FSTRER AGRRR JGES 947

A 0 '
If AOB =132°, COD = 141°. Then DOB

A 0 C

g9 AOB =132°, COD = 141°. 6569 DOB 6298

v Tachofworld.In

)
) 73°
)
)

m

C) 63°
D) 93°
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55) Ram and Shyam enter into a partnership by investing
Rs. 6 lakhs and Rs. 4 lakhs respectively. At the end of one
year, they divided their profits such that one-third of the
total profit is divided equally for the efforts they have put
into the business and the remaining amount of profit is
divided in the ratio of the investments they made in the
business. If Ram received Rs. 40,000 more than Shyam,
the total profit amount (in Rs.) was

Techofworld.In

55) QUE1 9Q° SIF1 Q2IGEE Rs. 6 A 4Q° Rs. 4 @ o1 86!
@0 98 ATAGCIER 96a4 F5aI 98 64196 6ARNER 6AFINTR
ARG MIA VIGEA QG VER 64, AYLIE NWQ IR GRS AR
QIR NG FAUTR MLAIY AR AR RGN ALY FA6S
Q° @09 MIR QIE 6ACIER NQAILER KE2Q 95 BQUIDE6R QUE!
QAR K& QIS SHIFI0IQ Rs. 40,000 2@ IR 6069 AT QI
MR QGG (Rs.6Q) aiml

A) 30,000
B) 3,00,000
C) 3000

D) 1,40,000

56) A square garden of area 400 m? is surrounded by a
walkway of width 'X. The total area of the walkway is 500
m2. The width 'x' of the walkway is

56) 400 Q4 figQ 689TF G494 9P QFIRIA AIFA AIRIHER
X' 9991 U@ R0 2F | & PRI2e AWIR AR 500 |d
{69 1 9NKa 'X'Q 9RQ| 6268

In the given figure, M is the centre of the circle and angle
QPR = 55", then the value of angle PSQ is

A) 45°
B) 25°
C) 55°
D) 35°

UAREQI F86a M 988 688 2166 B 6916 QPR = 55°, 6069
6Q16 PSQ @ Ay 2l6o

A) 45°
B) 25°
C) 55°
D) 35°

58) Two numbers are in the ratio 3 : 4. If the sum of
numbers is 91, what are the numbers?

S e Techofworld.In
C) 39 and 52
D) 42 and 56
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58) Q@& A°GUIQ 2gAIe 3 4] 9T QY gFen 908 91 606@
QHIGER @617

A) 7596° 100

)
B) 40aq° 51
C) 39 9@° 52
D) 42 9q° 56

59) Two types of Rice powders A and B are manufactured
in a factory by mixing two basic elements. The
compositions of the two basic elements in the Rice
powders A and B are in the rato 5 : 3 and 1 : 2
respectively. A new food product X is formed by mixing
the two powders A and B in the ratio 4 : 3. What is the ratio
of the composition of the two basic elements in food
product X?

A)1:1
B)1:2
C)3:4
D)2:1

59) 6615 QIRHIRIER YRT 67100 AR Fgé @RI A 98°
B 9@ Uel9 1R g8 QURIR S| 9angd A 19 Bea 9@l
eae QAo G848 Qagea 5 @ 3 ¥8° 1 : 2 AQUIER
62IRANI A 99° B 989 4 : 3 29aIe6a JSIIR ARY 98 968

¢IY QQIQ X 99e @M ¢l9Y QQIQ X6 9@ 6FRe QaIFIe
Fgaa aQaIs @617

A)1:1
B)1:2
C)3:4
D)2:1

60) What is the greatest number that will divide 21, 46 and
66 so as to leave the same remainder in each case?

Techofworld.In
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60) 629 Q28 A&l 21, 46 NG"° 66  FAGR KA Y8° IR
69 604R 6RG6Q AR RATTH AEQ?
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Section 7 - Paperll-Social Science

61) Which of the following terms refer to a group of islands
that are similar to each other?

A) Eyot

e Techofworld.In

D) Archipelago

61) FARYE ARIQ 6966 1 ERa I AFL 265 IR 16
QTG AR 2A6S?

A) @aig

B) g10

C) aaemg
D) g10 aqe

62) Which of the following committees recommended the
2-tier system of Panchayati Raj in India?

A) G.V.K.Rao Committee
B) Rao Committee

C) L.M.Singhvi Committee
D) Ashok Mehta Committee

62) AIRYS AP 69w AT ABILT AR @ 2 LAA AN @
QUIRE @GemI?

A) §a69. Qs afi@
B) QU3 afi&

C) a9, daren afiG
D) 2i6a1@ 6r1620! AFG

63) Which among the following is a non-renewable natural
resource?

A) Water
B) Wildlife
C) Fossil fuel
D) Forest

63) FOnYe ARYER FUQ 6aNE AR 26 KPR
QR 26e ?

A) of

B) qggién
C) 65912 @e9
D) 21aén

64) Which of the following Articles in the Indian
Constitution prescribes that the state shall provide Free

and Compulsory education for all children below 14
years of age?

A) Article 42
B) Article 45
C) Article 44
D) Article 43

64) ARG &R FARYS FUQ 606 AGERL QAR &N 691 14

Qd Q0 @ @9 QOd 29I AN dRI ARG AIGEI 3 2GQIGY Jal
JIe QUL

A) eagt 42
B) em® 45
C) emsl 44
D) emdt 43

Techofworld.ln

65) Which of the following was a local tax levied by the

Municipalities on certain articles after they entered their
territory”?

A) Customs Duty
B) Octroi

C) Sales Tax

D) Toll
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B5) AN IR @9 ATRUIRR TRl FRR 6AGER J6E K9l
J6Q 48 6ndl 959 AU6R ARG FQ RIg FRL6R?

A) Qifll g / 930 GaG
B) aqerg
C) 3 aa

nes 1 €CHOfWOrld.In

66) Which of the following British officers was associated
with the concept of 'Safety Valve' for British Raj?

A) Saunders Alexius Abbott
B) Lord Curzon

C) A.O. Hume

D) Lord Cornwallis

66) FOIRYE FRIQ AITIQ UNEAT § 559 AIFR IR Y| AURY
QRIARERI?

A) @red 26n9d0aQ 2R
B) a¢ aeq

C) 9. 6. 2.a

D) a¢ eaainq

67) Which of the following gases is mainly responsible for
the greenhouse effect in the earth's atmosphere?

A) Nitrogen

B) Oxygen

C) Carbon monoxide
D) Carbon dioxide

67) 9811 E6Q 995 92 gRIe Grea FIRYe g gae g
626 GNIY Y MR QUL 2168 ?

A) aegIe
B) aqgeie
C) QI9] A6RIFIR
D) Qe 2910Q

Join Us-

68) Which of the following religions forbids killing of any

living being, so that they do not eat anything grown
underground?

A) Islam

B) Buddhism
C) Jainism
D) Hinduism

68) SEMYE FIQ 6ae F 6@ A1l F1TG YI§1 § FIGQ! TR
A6 2R2I8, ATIRI 62FI6H HAGS 6RER! @8 AU YIS RIR?

A) Qamiq
B) 6Ql& il
C) e a6
D) &g

69) Which among the following options is the smallest and
shallowest ocean?

A) Indian Ocean
B) Atlantic Ocean
C) Southern Ocean
D) Arctic Ocean

69) FARYE A2Q 6895 AQOIR CRIT 6 QA ALIAIFIA 2I6E?

A) 89 agIaIBa

B) zicnida AgIQIee
C) @d¢ agiaga

D) 2196Q FLIAI9a

70) What is the other name given to the longitude which
passes through Greenwich, England?

A) Rose line TeChOfWOI’|d . I n

B) Prime meridian
C) Plimsoll line
D) Prime parallel
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70) Q°R4Q, 9166 Fl 606 98 RQAR! GIHAIR 26y QI @4l ?

A) eI 6al TeCh OfWO I'|d . I n

B) quim cade casl
C) Js 6QIm 694l
D) guie Qrigsas

71) Who among the following was the first Indian to qualify
for the Civil Services?

A) Satyendranath Tagore
B) Rabindranath Tagore
C) Surendranath Bannerji
D) Jatin Mukherjee

71) @ORYe Aug &4 Jom 6991 UIR 6AITIG! JIY KGRI g
RAUQSTE 2JeR?

A) Ac4gell S169IQ)
B) aeigalel cleaia
C) geagal QIaIa1
D) @@ qas

72) In India, which of the following types of emergencies

can be proclaimed when a State Government fails to
function?

A) Military emergency

B) Constitutional emergency
C) National emergency

D) Financial emergency

72) 69606967 QIRY AeRIA FINY RERIER GTR 62IRAITIT,

606 FOMo 69 =) a9 2ITIR MR 6LV
@ALIRAIEQ?

A) 6854 2IABRIR

B) afuGe aaeqie
C) aqia 2191e91e
D) 218i@ 2IQIeQIR

73) Structures and institutions are BEST examples for
which of the following types of resources?

A) Human resources

B) International resources
C) Renewable resources

D) Non-Recyclable resources

73) AORYS AYRGER FUQ A9 G AGRRYER 699
geie Agea A6QIge QQILed 2IE ?

A) Q169 9@

B) zesi01a A9e

C) ae1904 caIgy AR

D) 0g@19ad 269194 A9

74) What is the value of the latitude at the equator?

A) 0°
B) 90°
C) 45°
D) 22.5°

74) 3gQ 606l TRCER AV MY 6Q6C 62NN ?

A) 0 &9
B) o0 @91
C) 45 @gn
D) 225 &gt

Techofworld.In

75) Which of the following amendments of the Constitution

of India brought about the reduction of voting age from 21
to 18 years?

A) 64th
B) 60th
C) 61st
D) 65th
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75) QU0% Q ARIIF Q FANYS FUQ 6QQ A°CERR TR Q
QA q 21 @ A4 @R 18 Q¥ QACRRMI?

A) 649¢

B) Gocn Techofworld.]

C) 6109
D) 656¢

JoinUs-' > f
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Section 8 - Paperll-Science
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76) Which of the following options CORRECTLY
represent "succulent” with respect to adaptation in plants?

A) Plant adapted to desert habitat
B) Plant adapted to saline habitat
C) Plant adapted to water habitat
D) Plant adapted to aerial habitat

76) ASQ9ER6R AgRRe AR FIAUR 6965 'AGIERY @
QEe 2Ig QIIRE?

A) a8Q AgR BIRIA g3 299 629

B) 08¢ aedie 2191a 96 agee 629!

C) a8 9910 2IRIA 96 g9 699

D) @@@ QlaQ1e 2I9Ia 96 2gqe 624!

77) The force required to separate two glass plates of area
103 m2 with a film of water 0.05 mm thick between them,
is (the surface tension of water is 70 X 10 N/m)

A) 28 N
B) 50 N

C) 14N
D) 38 N

77) 996 Q19 64 UITIQ 68T 107 m? 26E' I8° UILI F16S
0.05 mm 671I51Q & didia 962 28 (AIEa g8 ea 6248 70
X 10 N/m) 629@q 2R6l 95Q! QIo 6368 @R AR ?

A) 28 N
B) 50 N
C)1aN
D)38 N

78) Which among the following options CANNOT be

categorised as biological pathogens that could cause
diseases in humans?

A) Pesticides
B) Bacteria
C) Fungi

D) Parasites

78) GkQ 60@ S@edq AR qLACEE V6 IR
PAULIRKIAS 41T A2l AIPS IR196R 6916 & FRAEH?

A) sadaipe
B) quieqaal
C) aqa

D) alqiQias

79) One man takes 10 minutes to raise a box to a height

of 10 metres and another man takes 5 minutes to do so.
The energy of the

A
B
Cc
D

two is different
two is same
second is more
first is more

—_—

79) 9641 Q43 66115\ Q19 10 Fieq a9diq 66@%1 AIR 10 AFQ

AR 5 9Q° 2R Q66 QIS T 9GSl AR 5 FARQ ana G
AT 99

A) 9aF @ o9
B) @ aaie

C) §9105 2ye
D) gae & eye

80) Which among the following plants show special
features like short stature, hairy parts, and dark color?

A) Tundra plants
B) Rainforest plants
C) Desert plants
D) Aquatic plants

Techofworld.In
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80) fQAUQ 606 QHQ F6aT 638QY 69%IN 600 7 AT,
QLS 2°8 6 FIQ QEF?

A) g5l aee
B) cdiady ada
C) aggfia a8e
D) eae Q@@

81) Who among the following was the first to observe a

cork cell under a microscope and known for coining the
word "cell' in the year 16657

A) Robert Hooke

B) Rudolf Virchow

C) Friedrich Wohler

D) Sergei Winogradsky

81) GIe1IQ @ 2R 2Q AIR ¥R 9@ 6RITRIF FIREFIEIIT F6R

2QaIe @G26R B 1665 6@ gaF 2Q dIR "6IR” J8a QIR
@GeEm?

A) 6Qiee 9@

B) qseme @i
C) 6g6etia cana
D) a56% amsaIgied

82) Na2S0s (aq) + BaClz(aq) — BaSO4(s) + 2NaCl(aq)
The above reaction is an example of

A) Displacement reaction

B) Combination reaction

C) Decomposition reaction

D) Double Displacement Reaction

82) Na.SO. (aq) + BaCl,(ag) — BaSO.(s) + 2NaCl(aq)
(6AIRYY  (690G¢ (6R0Q¢ (6ABLUNANETS)  6RIAUNS)
ARETE) 69Q100)a8 IO 694 IRI0e 98GI?

A) Gae 9é5a
B) areniee goqal
C) zaace g&gal

D) 6§¢ daI0e goaal

Techofworld.In

83) Which among the following macromolecules or
organelles is absent in Prokaryotes?

A) Vesicles
B) Vacuoles
C) Golgi Body
D) DNA

83) 6gIRIBGA 6a FAAIQ 6aQ YN Ag QI 6RIT AGF AQATS
aIg?

84) A 25 cm long capillary tube is dipped in water. The
water rises up to 10 cm. If the entire arrangement is putin

a freely falling elevator the length of water column in the
capillary tube will be

84) 4@ 25 627 @Kl 638 A1 A6 gLIGWII QIS 106a8

adye Oml 9@ Qd MeYR IR 8 WNER §Q
DEMERTAER ASHITR 656 6RER FRER FRAAR ARG 629

A) 25 6QF
B) 20 6a@
C) 10 6
D) 5 cadi

85) A train of length 200 m travelling at 40 m/s overtakes
another train of length 300 m travelling at 30 m/s in same

direction. The time taken by the first train to pass the
second is

nsos | echofworld.In
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ML I L W T T T

VUSJUIIC-ZU 1Y Ddlvil) L7 LU Jdla

85) 66115~ 669Q 63614 200 m Q21 40 M/s 6236Q I FQE
3 64 G969 30 M/s 69668 FIAZL! 300 M Q AFY IR 6877

090 Qg8 | §o19 696 DA 658 AT FAQIG 696S AFL,
RGe?

s 1 echofworld.In

B) 10s
C)40s
D)30s

86) Which among the following options is the main site of
protein synthesis in the structure of a cell?

A) Lysosomes
B) Vacuoles

C) Ribosomes
D) Golgi Bodies

86) 606N 6RIER T°AGRI AUER @Y FREGER AUR 6RRE
69IFE A°64IEIQ &Y QI

A) Qs
B) saueauing

C) aimslexia
D) andl a8

87) The condition produced by aerial oxidation of fats and

oils in food, marked by an unpleasant smell and taste is
termed as

A) evaporation
B) rancidity
C) corrosion
D) sublimation

87) Q460 9 3 60NQ AVNLTA AF6EAR TIAI 9§ 0ARE 6208
99 HQIY 9F G YIQ AILIG K8 FRIAN?

A) Qgiees
B) Qid ezl
C) a& Quaal
D) ag1eed

1]

88) Read the following statements and choose the
CORRECT option.

(i) Baculoviruses are pathogens that attack only plants
having dark green leaves.

(i) The majority of baculoviruses used as biclogical
control agents are categorised under the genus
Nucleopolyhedrovirus.

A) (i) is TRUE and (ji) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) is TRUE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE

88) G¢] @R9Ee Jeg 6 A0a 998 9U 493 |

(i) QIQUEMVNAAYLR 6208 UI62I6RR LT 699F JIe A9
QEQ IG QI A0LIET 2GS @R |

(iN6EGR FOa8 Y6TE QI6R AL TR ZRIFIE
QIFIEN NN QIFECRNELERRINAL ARIGE |

A) (i) 6268 0@ G (i) 6208 g@
B) (i) 626@ @m 6 (ii) 6208 0«
C) (i) e2ag 6@ G (ii) 62a8 6@
D) (i) 6268 @ G (i) 6268 @R

89) The work done by the brakes of a car of mass 2000
kg when its speed is reduced from 20 m/s to 10 m/s is

A) 150 kJ
B) 15 kJ

C) 600 kJ
D) 300 kJ

89) 60606a6@ 2000 62G 9gQ G99 @ QIER 6891 20 M/s @
10 m/sg QA TN 6VEQ 6A6FERER 697 TR ANIG QI

" Techofworld.In

A) 150 kJ
B) 15 kJ

C) 600 kJ
D) 300 kJ
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90) Water rise in a vertical capillary tube up to a length of
10 cm. If the tube is inclined at 45°, the length of water
risen in the tube will be

A) 102 cm
B) 10 cm

comen 1 €ChOfworld.In

D) 0 cm

90) Y@ ae 621801 2168 A1 10 cm Q99! A48 QUAg Q60
| 9@ Q@1Gq 45° QIR QLN 606Q AR1EQ IS 6R6C AFC!
AN Q0Q?

A) 102 cm
B) 10 cm

C) 10v2 cm
D) 0cm
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Answer Key

® NS v s W~

D R DR RN NN R — — — — — — — — — — \Q
PO SR Oy Lh B BB B RS S0 N D00 Bl Oy o ol O DD e e X
OO o0 wWmW>mOmgm > OOO0O00 P @O TmgOgOOgOC

29,

31.
92
33;
34.
39.
36
37,
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52:
53,
54.
5,
56.
3t
58.
38
60.

Q> Q00000 OC0C0C0C0OP»T0OOO00000WO®®O®T®O®E >

61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
L.
4
¢
74.
i)
76.
Il
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
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